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M.Se. (CBCS) DEGREE EXAMINATION, APRIL 2019,
Fourth Semester
Chemistry — Core
ORGANIC CHEMISTRY — 1V
(For those who joined i July 2007 onwards)

Time : Three hours Maximum : 756 marks

PART A — (10 = 1 = 10 marks)
Answer ALL questions.
Choose the correct answer |

1.  When «-silyl Carbanions react with Carbonyl
compound, f - silyl aleohol derivative is formed.

This on treatment with a base gives alkene, This
reaction 1= called reaction.

(a) Stobbe condensation
(h) Julia olifination
{¢) Peterson olefination

() Oxvmercuration

=

5.

The intermediate formed m Gomberg-bechmann

regetion 8 ——— radieal,
(o) Arvl (hy Alkyl
{¢) Acyl () Acyloxy

The nwmber of Chiral Carbon  present in
Perhvdrophenanthrene is

{a) 1 fhy 2
() 3 {dy 4

The chair form of cyelohexanone possess
sbrain,

{a} angle
{b) torsional
(c) bhond length distortion

() both (a) and (b)

The protective group for acid is
(n} Ester (hy  Acetal
(¢} Ether {d) Ketal

The appropriate synthetic equivalent for %)H.L is

(a) CH,0AC (b) CH,Li
¢ CH,CI () CH,OT,
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Which among the following is a androgens?
(a) Oestrone (h} Oestriol

() androsterone (d} progesterone

Which among the following is a bile acid?
(a) Etianic acid

(h) lithocholie acid

(e} S - cholanie neid

(dy 59~ cholanic acid

Disiamy! borane iz
fCH,-CH-CH Y-BH
(a) | |
| CH, CHyJs2
CH,
|
(b) CH.-CH-C-BH.
| I
CH, CH,
(c) CH,CH,BH,
(d) CH,CH,CH,BH,

Which amang the following is a superhydride?
(a) (CH,),CulLi (b) LiAlH;
(¢) NaBH, () La(C,H.),BH
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PART B — (6 = = 25 marks)

Answer ALL questions, choosing either (a) or (h),

Foaeh answer should not execed 250 waords.

(a

(h)

a)

(b)

(a)

(b)

Write notes on Me Murray coupling reaction,

Or

What are Gomberg-Bechmann and Pschorr
reactions? Give an example for each.

Cis - 1, 3—dimethyl cyclohexane iz more stable
than Cis — 1. 2-dimethy] cyelohexane. Give
oxplanation,

Oy
(i)  Axal-2-lromo ecyvelohexanone iz more

stable than its eqguatorial isomer. Give
reason,

(i) Why is Cis-d-t-  hutyl eyvelohexane
Carboxylic acid undergo esterification at
a slower rate than its Trans isomer?

Robinson annulation sequence reaction s
more useful for organic chemists. Explain it
with two examples. T

Oy
Discuss the vetero synthesis and total
synthesis of 2, 4 — dimethyl-2-hydroxy
pentanoie acid.
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(z1)

{h)

(a)

(b)

(iy Explain Suzuki Couphng reaction with

an example,

(i What iz Dess-Martin reagent? Write its

special use.
Or

What is Adams Catalyst? What happens when
the following compounds are subjected to
reduction in presence of this catalyst

(i)  benzene

(ii) 1, 2 — dimethyl eyvelohexene
(ii1)
—

Discuss the conformational structure of
Ger - cholestane and 57 — cholestane.
Or
How will you convert
{11 Oestrone into oestriol and

{iiy  Oestriol into Oestrone?
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PART C — (5 = 8 = 40 marks}
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed GOO words.
16. (a) (i) Write notes on Petersons olefination
reaction.

(i) What happens when the following
compounds are oxidised with peracids?

0
(1 [
R-C-R
(2) acetephenone
(3) Cyeclopentanone,

What is the name of this reaction? Give
the mechanism for the fivst reaction only.

Or

Explain Darzen condensation reaction
with its mechanism.

(b) (1)

{ii)y Complete and give mechanism for the
following reaction.

Nt Lo A

S B ]
14 N,Nl%rf}.‘-
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Why is trans-decalin is more stable than
9-methyl trans decalin?

{a) (1)

(i) Write down the preferred conformer of
trans — 1, 3-di-t-butyl-eyclohexane. Give
explanation,

Or
(b) What do you mean by conformational energy?

Discuss the stability of various conformers of
perhydrophenanthrene,

Define protecting group. With an
example, explain the protection of aleohol
and its  deprotection in  Orvganic
svnthesis.

(a) (i}

(i) Discugs the disconnection approach and
total synthesis of Cis-Jasmone,

Oy

Explain the terms retero synthesis,
synthons and synthetic equivalent.

(h) (i)

(i) What is the appropriate  key
intermediate as considered in the
disconnection approach of Twistone? By
Robinson annulation reaction how will
you synthesise the intermediate? Write
down the total synthesis of Twistane, the
target molecule.
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19, (a)
(b)
20. (a)
(b)

(i)

i)

(i)
(i)

What s three of  its

application,

pDDQ?  Give

Write down the importance of triaklyl
silvl hahde,

Oy
Explain Heck reaction with an example.

What ie the action of 0,0, -H,0, with
the following compounds,

(1} Propenal

{2) Aliyl aleohol

(%) 2-methyl-1-propene
(4)  Cvclohexene

{5 Trans—2-butene.

Discuss the positions of double bond and
hydroxyl group in cholesterol.

Or

How will you synthesise

it
(ii)
(1i1)

Progesteroneg
5rz — cholanie acid and

Testosterone from cholesterol.
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